2017 FEFHASVRE (BrEA R 18)

EIECISES BRERE

PN B %% l:E\EE ﬁﬁﬁﬂz 15&5% &%ﬁ ’S’*ﬁ <GB ':I:L-‘JE_E . £’§ o

AE B EH | EE B EH e BF OGIE) | BFE FIE) | BEH 2 BE HA BAX
iEE = 97| 338+ 89.4 318| 102 3.5(% (3.91%)| 3.11% (B.5H)|&IE 64474 825 78.2%
TEJIEF = 40| 384=> 958 322| 40 9.6 (10.01%)| 8.11% (7.8(%)|&I&E 6711 900 74.6%
FLIRER = 75| 3684 135.3 324) 76 <1>| 4.9f% (3.6f%)| 4.37F (3.2(%)
HIRER  EC###| 20/ 8014 186.0 75 13 4.0fF (2.2f%)| 5.8(% (2.3(%)|RIE 986 1400 70.4%
FIRER EGEER| 55| 289 4 126.2 249| 63 <1>| 5.3f% (4.2(%) 4.0f% (3.40%)
EN:T] = 62| 4843 50.7 414 62 7.8f% (15.41%)| 6.71% (13.5(%)|—mmE 1350 1800 75.0%
=it E3 120 4054 110.7] 360] 331| 121 <1>| 3.4f% B.1%] 2.7 Q.7H|[FEH  885.75 1200 73.8%
XH = 55/ 281 <! 108.5 223| 55 5115 (4.76%)| 4.14% B.8(H)|&IE  759.70 950 80.0%
Lz = 85| 365 %1 93.4 332] 85 4.3f% (4.3f%) 3.9 (8B |HRIE  1188.6 1500 79.2%
BERIER = 67| 466 < 109.9] 354 320] 73 <1>| 7.0f% (6.3(%)] 4.4f% B.9H[BRE 9122 1310 69.6%
R = 77| 3335 948 311 81 <2>| 4.3f% (4.5(%)| 3.8f% (3.91%)
HK E¥EC—#® | 63 3065 97.1 284 73 <2>| 4.9f% (5.0f%)| 3.9f% (3.9f%)|&IE 1647 2000 82.4%
5 BRSO | 14| 27 91 93.1 27 8 1.9f% (2.11%)| 3.4f% (5.6%)
BE = 73] 313 91 940 219] 202| 77 <4>| 4.3(% 4.615)] 2.60% Q8H|FH 66499 900 73.9%
FE = 97| 390 <1 109.6] 293| 284| 103 4.01% (B.71%) 2.8f% (2.8f%)|RIE  1059.0 1450 73.0%
RR = 97| 527=> 96.5| 388| 377, 98 5.4% (5.61%)| 3.8% (3.9(%)|&IE 407.7111 550 74.1%
RREMER E 82| 366 01 92.4] 328| 320] 93 <6>| 4.5(% (4.8(%)| 3.4% B5H|[RIE 36880 540 68.3%
HIETIL = 85| 311 91 92.6| 255] 234] 88 <2>| 3.71% (4.0 2.7M% (.71%)|RIE 1535 2200 69.8%
8 = 85| 3804 123.8 327| 87 <2>| 4.5(% (3.61%)| 3.8f% (3.0ff)|evs—we 6781 750 90.4%
=i 3 60| 314=> 97.8 275/ 60 5.20% (5.41%) 4.6f%F A.31%)|RIE 12955 1700 76.2%
&R = 85| 266 74.7 219| 86 <1>| 3.1fF (4.2f%) 2.5f% (3.0(%)|&IE 897.1 1150 78.0%
=R = 55| 3464 158.7| 276| 229 56 <1>| 6.3f% (4.0f%)] 4.145 (3.2 |RIE 1197 1600 74.8%
IIET = SEGL
=M E 100 5554 122.0] 500] 439] 102 <2>| 5.6f% (4.6(%] 4.3(% (3.8(%)|=IE 861.4 1050 82.0%
I & E 32| 365 <1 1058 324 32 11.41% (10.8(%)| 10.11% (9.4(%)[&xIE  1582.70 2000 79.1%
ERER E 75| 420 69.7 356| 75 5.6(% (8.0f%)| 4.7 (7.0f%)|&IE  1236.7 1700 72.7%
2EE = 90| 2384 878 217| 93 2.6f7 (3.0%)] 2.3 Q. 7%)|RIE 1925 2550 75.5%
BEEMIL B 70| 506 <~ 83.9 456| 74 <1>| 7.2f% (8.6(%)| 6.21% (7.5(%H|mIE  953.28 1200 79.4%
=5 = 75| 411 21 109.9] 375] 326 77 5.5(% (5.01%)| 4.2f% (4.11%)|=IE 1056.70 1300 81.3%
BB ER = 75| 499> 96.3 447 75 6.7z (6.915)| 6.0f% (6.0f%)|RIE 820 1200 68.3%
RED = 102| 331=> 100.3| 320| 319| 111 3.2f% (3.2(%)| 2.9% (2.8(%)|&IE 88850 1250 71.1%
REFFIER E 100 301 91 94.1 286/ 100 3.0f% (3.21%) 2.9f% (3.00%)|RIE 7139 1050 68.0%
K E 100/ 200 1 94.3] 191] 189| 100 2.00% (2.5(%) 1.9(% (2.4%|&IE 83530 1100 75.9%
PN = 95| 3464 118.1] 327] 318/ 95 3.6f (3.11%)| 3.3f% Q@.7f%)|&IE 11502 1450 79.3%
e = 92| 346 <1 109.1] 333] 312 92 3.8f% (4.11%)| 3.4f% (3.5(%)|&IE 616.640 810 76.1%
=REVER E 22| 3244 169.6 283 22 14.71% (8.71%)]12.9f2 (7.5(%) |RIE 668.9 900 74.3%
MIMURITEH & 79 3504 119.9] 262| 230| 78 <1>| 4.4fF 3. 7% 2.9% (2.6(7|RIE 854.0 1350 63.3%
MRLRIER E(—H) | 640 2604 129.4] 198 65 <1> 4.1f% (3.1
MIURIER EREERD | 15 90> 989 64 13 6.0f% (6.1f%)
By E 65| 384 84.0 333| 66 <1>| 59f% (7.0f%)| 5.0f% (6.0f%|&IE  1126.7 1400 80.5%
EiR = 62| 381 623 330| 67 <3>| 6.1 (9.9%)| 4.9f% (7.2(%|RIE 88220 1160 76.1%
L E 100/ 3614 110.1 336| 101 3.60% (3.31%)| 3.3f% (2.9(%)|—mme 1701.2 2100 81.0%
LB = 75| 598 = 103.5 556| 76 8.01% (7.71%)| 7.3f% (6.9(%)|emame 2060 2700 76.3%
= = 60| 5504 137.8 479 61 9.2f% (6.71%)| 7.9f% G.9FH)|RIE 12354 1500 82.4%
wE = 72| 2644 151.7] 258| 212| 78 <5>| 3.71% (2.4%) 2.71% (1.8fH)|RIE  1009.0 1300 77.6%
& = 59| 337 1~ 114.6 298| 59 5.7(% (5.01%)| 5.1% A.11%)|=IE  1239.0 1600 77.4%
B = 40| 287 734 234 40 7.2f% (9.8(%)| 5.9f% (G.3fFH)|®IE 97560 1250 78.0%
=40 = 65| 292 => 100.3 261 67 <2>| 4.5f% (4.5(%)| 3.9(% (B.3(%|&IE 13874 1900 73.0%
TN = 111| 342=> 97.4 332 112 3.11%  (3.2f%)| 3.0f% (Q.9f%H)|=IE 8914 1150 77.5%
ks = 50| 255 79.9 192| 51 <1>| 5.1f% (6.44%)| 3.8(% (4.3f%|&IE 83502 1030 81.1%
Ri5 = 76| 3714 117.0 315| 82 <4>| 49f% (4.2(%)| 3.8f% (B.7/%)|=IE 93720 1210 77.5%
X = 95| 5464 152.5/ 399| 361 96 5.7( (3.8f%)| 3.8f% (3.3(%)|&I&E 90151 1200 75.1%
PG = 65| 2654 121.6] 196| 161 68 4115 (3.4f%)| 2.4 Q4fH|RIE 7681 1050 73.2%
= E 50/ 393 /1 109.8] 301] 256] 67 <1>| 7.9(% (7.2(%)] 3.8(% (4.3(%|RIE 1124 1500 74.9%
BERE = 67| 247 597 218| 66 3.71% (6.21%)| 3.3f% (4.5(%)|&IE 147620 1820 81.1%
BB = 70| 391> 975 350| 321 70 5.60% (5.7(%)| 4.6(% (4.4(%)|RIE 13674 1700 80.4%

SAPIX YOZEMI GROUP



2017 EF R AT (BRI HFE)

ZERE BRERE

FRE (AS [ FH O BH  EE EBHR(EH o £F GEIE) | EFX GIE) | BEE BA @A B8AX
TENER = 22| 5024 69.3 236 22 22.8f% (32.91%)] 10.71%  (5.91%) |HIE 705.0 900 78.3%
FXHE = 25| 2864 116.3] 225] 76| 29 <3>[11.4% (9.8(%)] 2.6f%F (.2(5[RIE  836.75 1000 83.7%
Lz E 10| 174 91 90.6 67| 10 17.4f% (19.21%)| 6.7f% (3.8(%)
BERIEFR = 23| 421> 822 237| 85 23 18.31% (22.31%)| 3.7z (3.11%)|RIE 580 810 71.6%
FE = 20| 384 => 103.5| 255| 67| 22 <1>[19.2f% (18.6(%)| 3.0fz (4.617)|RIE 1100 1450 75.9%
RRERER E 15[ 194> 96.0] 122] 39| 18 <1>/12.9(% (13.5(%)] 2.2f% (1.4f%
=1L = 20| 4374 136.1] 345| 91| 26 <3>|21.9(% (16.11%)| 3.5M% G.OFH|RE 12991 1550 83.8%
& E3 25| 266> 75.8| 250| 107| 26 <1>]10.6f% (14.0f%)| 4.14% (3.01%)|=IE 532 670 79.4%
MED = 90(1,620 4 133.4] 901| 335 100 <10>|18.0f% (13.51%)| 3.4f% (3.6f%)|ezs—re 6471 800 80.9%
i & = 35/ 837+ 822 525| 210] 37 <2>|23.9(% (29.11%)| 5.7% (G.4H|RIE 120810 1600 75.5%
ERER = 10| 145> 46.2 61| 12 <2>|14.5(% (31.4f%) 5.11% B8fH)|&IE 11273 1300 86.7%
2EE = 5 604 769 8 5 12.01% (15.60%)| 1.6fF (1.8f%)
=F = 10| 154 4> 68.4] 100| 37| 10 15.41% (22.5(%)| 3.71% (2.8(%)|&I{E  766.10 900 85.1%
=REVEH & 53|1,4184F 170.6| 742| 288| 61 <8>|26.8f% (15.7f%)| 4.71% (5.8(%)|RIE 755.2 1200 62.9%
Bl = 20| 2523 75.4 102| 23 <3>|12.6f% (16.7(%)| 4.41% (6.91%) |HIE 824.8 1000 82.5%
LB E 20| 236~ 81.7 97| 24 <4>|11.8f% (14.5(%)| 4.0z (5.5(%)|RIE 916 1000 91.6%
=) = 10| 2424 1352 150| 45| 10 24.21% (17.9f%)| 4.5(% (5.3%)
B = 25| 596 4~ 150.1 257| 25 23.8(% (15.91%)|10.3(% (6.61%)|&IE  1287.0 1500 85.8%
B = 25| 567 % 66.4 310| 28 <3>|22.7f% (34.2(%)| 11.14% (14.3(%)|&={E  1006.60 1200 83.9%
F3 = 10| 214=> 97.7] 161| 47| 11 21.41% (21.91%)| 4.3f% U35 |RIE 766480 910 84.2%
=G 3 20| 3644 159.0] 238] 68| 20 18.2f% (11.5%)| 3.41% (4.0f%)|&IE 994 1200 82.8%
ERS = 23] 2034 57.3 89 24 <2>| 8.8f% (15.4(%)| 3.7(% (2.5(%)|&IE  986.00 1220 80.8%
FEEE = 25| 355, 87.4] 300| 114] 26 <1>|14.2{% (16.2f%)| 4.4% G.9H|RE 10862 1300 83.6%
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2017 FEFR AR GERE - AO)

hE | %R | & S =B ERERE

A+ | BE= s (P2 50 2a Bk Re Bk wE Re e Eaw
tiEE |AO E 5 6 6 0| 1.2f% —
EJIIER |AO EGLEEFRER) 40/ 121 119 40| 3.0f% 3.0f%
BINER #E E GEALE R RIER) 10 26 26 10| 2.6f% 2.6f%

RER HE E-hig# 20 47 47 20| 2.4f% 2.4f%

MIRER HE E-4F5l 4% 15 41 41 15| 2.7 2.71%

AR AO = 50/ 135/ 135 50| 2.7f% 2.71%

Hit AO = (AOIIER) 15 68 30 15| 4.5% 2.0f%

Bt 551 = (E/N\hory) &F 1 1 1 1.0f%
U H HEE = (—hg#) 20 85 84 20| 4.3f% 4.2f%
FUH = = (FA A R i) 19 58 58 18| 3.1f% 3.21%
FE HE = (£ E#higi#) 5 29 25 6| 5.8f%F 4.2(%

iz HE S 30| 121| 120 30| 4.0f% 4.0f% | =IE 780.1 950 82.1%
BERIEH HE = 40/ 103 99 35| 2.6f% 2.8(Z|®IE 4865 810 60.1%
R HERE EFFE(—HR) 36/ 197| 197 37| 5.5f% 5.3f%

b0 HEE EF5E (Mg ) 22 80 80 20| 3.6f% 4.0fF

R L= = (B hor7) BT 6 6 1 6.01%

HE HEE = 35| 114| 114 35| 3.3f% 3.3f%

FE HE = =1L

E5: HE EE =47 3 8 4 2| 2.7 2.0f%
RREMER | #fE E CRBER) 2 5 5 2| 2.50% 2.5f%
RREMET | ff 2 E(RFEZ) 2 7 7 2| 3.5% 3.5f%
REET (B = (Mg EE7R) 5 21 16 5/ 4.2f% 38.2(%

s HE = 37| 146| 146 37| 3.9f% 3.9f%|evs—ms 4902 550 89.1%
= #E = (Hhigi#) 15 30 30 12| 2.0f% 2.5%

= #E IE(##%IJ*’*) 10| 165/ 160 10| 16.5f% 16.0f%
£iR HE 258 (— AR ) 15 62 30 15| 4.11% 2.0f%|=IE 873 1000 87.3%
&R B |: BERERINNER) 10 45 30 10| 4.5f% 3.0f% =IE 8457 1000 84.6%
&R #E EFFH(FLER) 2 2 2 2| 1.0f% 1.0f%
=mH #E = 30/ 152 89 30| 5.11% 3.0f%

ITET] HE = (Hhigi#) 35 89 52 35| 2.5f% 1.5f%
M HE = 20 64 64 21| 3.2f% 3.0f%

I B HE = (—f%) 15 28 28 15| 1.9f% 1.9f%

I B #E = (Hhigi4) 28 65 65 28| 2.3f%F 2.3f%

ENER (HE = 30 94 92 30| 3.1f% 3.1{%|®IE 1146.7 1500 76.4%
L2EE (HE = 12 31 20 12| 2.6f% 1.7f%

BAEEMIL HE = (#EB) 20 63 40 17| 3.2%F 2.4f%

BEETIL HE = (Hhigi4) 7 35 32 7| 5.0f% 4.6(%

=F HE = 40| 128 64 38| 3.2f% 1.71%

HBEER (HE = 25 72 72 25| 2.9f% 2.9%

e HE = 5 5 5 2| 1.0f% 2.5(%
REFLEHN HEE = 7 27 27 7| 3.9f% 3.9f%

PN HE = (tHFE) =T 4 4 1 4.0f%

KB |HEE E =L
wE HE = (Hhigi#) 10 36 22 10| 3.6f% 2.2f%
wE AO = 10 93 20 10| 9.3f% 2.0f%
RRRIEH HEE E (RAEEMER) 13| 153] 137 14| 11.8f% 9.8f% &I&E 6619 900 73.5%
RRRIER | HEE = (Hhigi#) 25| 173| 167 25| 6.9F 6.7F|RIE  655.2 900 72.8%
MEILRITER | #f g = 21 76 33 23| 3.6f% 1.4f%

B HE = 20 96 93 20| 4.8f% 4.71%

SR HE = (—#%) 25| 105 104 25| 4.2f% 4.21%

SR HE (= (Hhigi#) 10 11 11 8| 1.1f% 1.4f%

BiR HE = (R2REEFERE) 5 17 17 5/ 3.4f% 3.44%

fif] L HE = (Hhig#%—FE L) 7 61 61 7| 8.7% 8.71% | &IE 812.8 900 90.3%
fE] L HE = (Hhigi#-BE) 1 5 5 1) 5.0f% 5.0f%

fE] L HE = (Hhigi#-55) 2 19 19 2| 9.5f% 9.5(%

fE] L HE = (Hhig#-EE) 2 20 20 2/ 10.0% 10.01%
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e, PN o 5% T 2B & T =B ERERE

Ao B FHR B | = | =% EM % B% BE BA 85 BAE
fiE] L 55 FHEERGEDS) 3 3 3 3| 1.0f% 1.0f%

L& HEE E(LB8R31—X) 18 69 69 18| 3.8f% 3.8f%

/8= HE = (FWRa3—X) 2 8 8 2| 4.0f% 4.0f%

L& AO = 5 18 15 4| 3.6f% 3.8f%

A HERE = 37/ 161| 158 37| 4.4f% 4.3(%

me HERE = 42] 111 96 41 2.6f%F 2.3f%

= HEE = 25 67 67 25| 2.7%  2.71%

g HE EINEER T 25 70 70 25| 2.8f% 2.8(%|vvs-me 69440 900 77.2%
BhE e EB (i E D iE) 20 60 60 20| 3.0{% 3.0{%|evs—me 70120 900 77.9%
=% #E = (Hhigi#) 15 75 74 15| 5.0f% 4.9f%

=1 AO = 30, 195/ 194 30| 6.5(% 6.50%

JL B = AL

= B = (—h%#) 20 78 78 20| 3.9f% 3.9%

&E B E(EEE®R) 23 61 61 23| 2.7%  2.71%

&8 B E(RIFEZ) 1 7 7 1 7.0% 7.0f%

=B B E(EERH#ERE) 2 25 8 2112.5f% 4.0f%

K% HE EA(HIHERE) 15 31 28 16| 2.11% 1.8f%

K% B EB (i E&E4FA) 10 14 14 9| 1.4f% 1.6f%

R HEE ECUrEER) 2 2 2 0| 1.0f% —

R HEE EC(ZIFEHR) 2 6 6 2| 3.0f% 3.0f%

& i ED(HEER) 5 24 22 5| 4.8f% 4.4f%

K% B EE®RFEFHRER) 5 21 21 5/ 4.2f% 4.2(%

K% B EF (EFREER) 5 12 12 5/ 2.4f% 2.41%

HER #E E-—Rg 15 39 38 15| 2.6f% 2.5(% &IE  96.93 115 84.3%
BEAR i E-ihigi ¥ 5 13 13 5| 2.6f% 2.6f%

N AO = (—fig#) 22| 146 52 22| 6.6f%F 2.41%

& AO = (Hhigi4) 13 75 30 13| 5.8(% 2.3f%

=0 #E = (—h%#) 20 60 60 10| 3.0f% 6.0f%

=y i = (Hhigi#) 10 24 24 5| 2.4f% 4.8(%

=y HE = (Hhigi 45 50 4%) 10 21 21 9| 2.1f% 2.3f%

BERE |#HE = 17 43 43 17| 2.50% 2.5f%

BERE |45 =@/ \haL7) | &F 4 2 2 1.0f%

Bk HE = (Hhigi#) 14 36 36 13| 2.6f% 2.8f%

BREk HE = (Bt - AL Ep#) 3 8 8 4| 2.71%  2.0f%
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